

## Make a 10 to Subtract

Subtract by changing the second number to 10.

$$\boxed{1} \boxed{5} - \boxed{8} = \boxed{\phantom{0}} \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}}$$

$$\boxed{3} \boxed{7} - \boxed{9} = \boxed{\phantom{0}} \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}} \boxed{\phantom{0}}$$

$$\boxed{8} \boxed{1} - \boxed{6} = \boxed{\phantom{0}} \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}} \boxed{\phantom{0}}$$

$$\boxed{5} \boxed{8} - \boxed{7} = \boxed{\phantom{0}} \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}} \boxed{\phantom{0}}$$

$$\boxed{6} \boxed{9} - \boxed{5} = \boxed{\phantom{0}} \boxed{\phantom{0}} - \boxed{\phantom{0}} = \boxed{\phantom{0}} \boxed{\phantom{0}}$$